> restart

> Hi=fo- diff (,x$2)

> dsolve((2))
¢(x)=_CIlsin(kx) + C2cos(kx)

> s = @(-L/2)=0,¢(L/2)=0

L L
ics ==(p(—?) =O,(p(?j =0

> subs(ics, subs~([x=-L/2,x=L/2],(3)))

0= _ClIsin KL + C2cos KL ,0=_CI sin kL
2 2 2
> zip~ (=", indets((5), 'suffixed(_C, integer)'), [4, B])
[ C1=4, C2=B]
> subs((6), (3))
¢@(x) =Asin(kx) + Bcos(kx)
> subs((6), (5))
. (kL kL . (kL kL
[0——As1n( > ) +Bcos( ) j,O—Asm( 5 ) +Bcos( ) ”
> #solve((8), {B,E, A})
> solve((8), {B, k, A}, allsolutions, explicit )

[ > solve(op(1,??), {k}, allsolutions)
po m(L+2 ZI6~) }
L

) + C2 cos( %

[AzA,BZO,kZ “ZZ]N } (4=0,B=0, k=k)
> simplify(solve((8), {4, B}, 'parametric' ="full"))
[{4=4,B=B}] sin(k—L) =0 kL
2 COS(T) =0
[{4=0,B=B}] otherwise
[{4=A4,B=0}] sin(%) =0
[{4=0,B=0}] cos(%)iO/\sin(%)iO
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> solve(op(3,??), {k}, allsolutions)
[k: 27t_LZ]7~ } (12)
the values of two formulas (8) can be obtained by two different methods,but
the result (9) is different from (10).



